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FEHX 4 miEH (AEZEH 100F) (GAEFHEE 20K) (GAEZEH103) (GRZEHHEE 20K)
RREH RFEE | HEFHEE | FEHHEE BFERY FEEE FERK BFEHEE
BA |5/7 =t % 0% 2*1: 5% % 0% 7? 10%
AN 2/7 o =F 0 0% 0 0% 0 0% 1 5%
gAN 2/T — i 1 1% 0 0% 0 0% 3 15%
KH |l — i 0 0% 0 0% 0 0% 2 10%
XH |#&1R357 o -F 0 0% 0 0% 0 0% 2 10%
XH |##x387 o -F 0 0% 0 0% 0 0% 0 0%
M= ;i&%T144—1 Iy 26 ) 4 4% 1 5% 0 0% 1 5%
PR FAEED by o 1:8 8 8% 2 10% 2 20% 2 10%
NER |EE o -F 9 9% 0 0% 1 10% 2 10%
e |rEl724-2 o -F 7 7% 1 5% 0 0% 2 10%
e | K584 o -F 13 13% 0 0% 2 20% 3 15%
XH HEEH — e 1 1% 0 0% 0 0% 1 5%
&t 12F 43 5 5 21
F1 3.9 0.5 0.5 1.9




